A BILL FOR AN ORDINANCE AUTHORIZING AND DIRECTING THE MAYOR AND DEPUTY RECORDER TO ENTER INTO A CONTRACT FOR THE CONSTRUCTION) OF SANITARY SEWERS TO SERVE DOWNING ADDITION.) AND DECLARING AN EMERGENCY.

ORDINANCE BILL NO. 27 for 1976

ORDINANCE NO. _ 1609

THE PEOPLE OF THE CITY OF LEBANON DO ORDAIN AS FOLLOWS:

Section 1. That the Mayor and the Deputy Recorder of the City of Lebanon are hereby authorized and directed to enter into a Contract for the construction of sanitary sewers to serve Downing Addition, and to obligate the City of Lebanon for the payment of:

SEE ATTACHED BID

VSH HEEL NOLLOOP 司多利用司一目后

SEWER for said street improvements, and not to exceed \$24,975.00

The Contract shall refer to the plans and specifications heretofore filed by the City Engineer and approved by the Council, and shall be in the following form, to-wit:

Section 2. That inasmuch as this Contract and the construction of the sewer improvements are necessary for the peace, health and safety of the City of Lebanon, an emergency is hereby declared to exist and this Ordinance shall be in full force and effect immediately upon its passage by the Council and approval by the Mayor.

Passed by the Council and approved by the Mayor this 13th day of July, 1976.

Mayor Gonzale

ATTEST:

Deputy Recorder

Low	erl: Cordel Corpor.	ntion Quantity	Unit of measure	or Lump Sum Figures	Unit Price or Lump Sum in Writing	X Unit Price or Lump Sum	
	Service Connection Pi	pe Stubouts					
	4 - Inch	9	each	\$ 25.00	Twenty-five dollars	225,00	
æ	2C. SURFACE RESTORA	ATION	×		*	ž.	
,	Replacement of Pavement, Rock Surfacing, and Drainage Facilities						
	Asphalt Concrete On Connection Trenches						
		100	lin. ft.	\$ 6.00	Six dollars	600.00	
	15A. GRAVITY SEWER	PIPE					
	8 - inch Extra Strength Tra	420 nsite	lin. ft.	\$ 3.00	Three dollars	1,260.00	
	8 - inch Cast iron	865	lin. ft.	\$ 7.60	Seven dollars and sixty cent	ls 6,574.00	
	Concrete, Clay or Asbe						
	8 x 4	8	each	\$ 30.00	Thirty dollars	240.00	
g.	Cast Iron Tee Fittings	<u>s</u> ,		E	•	•	
		16		\$ 76.00	Seventy-six dollars	1.216.00	
	15B. SEWER SERVICE	CONNECTIONS			,		
	Trench Excavation						
	Class C	440	lin. ft.	\$ 1.50	One dollar and fifty cents	660.00	
	Class D.	725	lin. ft.	\$ 3.00	Three dollars	2,175.00	
	Service Connection	Pipe					
	4 - inch transite	680	lin. ft.	\$ 3.00	Three dollars	2,040:00	
	4 - inch cast iron	485	lin. ft.	\$ 6.00	Six dollars	2,910.00	

provisions of the Contract Documents and based on the following lump sum or Unit price amounts, it being expressly understood that the unit prices are independent of the exact quantities involved. The Bidder agrees that the fump sum prices and the unit prices represent a true measure of the labor and materials required to perform the work, including all allowances for overhead and profit for each type and unit of work called for in these Contract Documents.

The amounts shall be shown in both words and figures. In case of a discrepancy, the amount shown in words shall govern. Unit Price Total Amount-Ouant. Unit of or Lump Sum X Unit Price Unit Price or Lump Sum in Writing Item Quantity Figures or Lump Sum measure 2A. TRENCH EXCAVATION AND BACKFILL Class C 0 - 6 ftTwo dollars \$ 2.00 10 lin. ft. 20,00 Two dollars and fifty cents \$ \$ 2.50 25.00 6 - 8 ft. lin. ft. 10 Class D

				*	
0 - 6 ft.	1270	lin. ft.	\$ 3.00	Three dollars	\$ 3,810.00
6 - 8 ft.	15	lin. ft.	\$ 5.00	Five dollars	\$ 75.00

Foundation Stabilization

10 cu. yds. \$ 13.00 Thirteen dollars \$ 130.00

Water Settlement of Trenches

10 1 in. ft. \$ 1.50 One dollar and fifty cents \$ 15.00

2B. MANHOLE CONSTRUCTION
Standard Manholes

0-6 ft. 6 each \$ 500.00 Five hundred dollars \$ 3,000.00

Total - \$24,975.00